AUSTRALIA
®

.

With your inspiring rating, COSTWAY will be more consistent to offer you EASY
SHOPPING EXPERIENCE, GOOD PRODUCTS and EFFICIENT SERVICE!

Mit Threr inspirierenden Bewertung wird COSTWAY konsistenter sein, um Thnen
EIN SCHONES EINKAUFSERLEBNIS, GUTE PRODUKTE und EFFIZIENTEN
SERVICE zu bieten!

Avec votre évaluation inspirante, COSTWAY continuera a fournir une
EXPERIENCE D’ACHAT PRATIQUE, des PRODUITS DE QUALITE et un
SERVICE EFFICACE !

Con su calificacion inspiradora, COSTWAY sera mas consistente para ofrecerle
EXPERIENCIA DE COMPRA FACIL, BUENOS PRODUCTOS y SERVICIO
EFICIENTE.

Con la tua valutazione incoraggiante, COSTWAY sara piu coerente per offrirti
ESPERIENZA DI ACQUISTO FACILE, BUONI PRODOTTI e SERVIZIO
EFFICIENTE!

Dzigki twojej opinii COSTWAY bedzie mogl oferowaé jeszcze WYGODNIEJSZE
ZAKUPY, LEPSZE PRODUKTY i SPRAWNIEJSZA OBSLUGE KLIENTA.

US office: Fontana

UK office: Ipswich

DE office: FDS GmbH, Neuer Holtighaum 36, 22143 Hamburg, Deutschland

FR office : 26 RUE DU VERTUQUET, 59960 NEUVILLE EN FERRAIN, FRANCE

f¢ |

sssssssssssssssss

‘

COSTWAY

SHOP EASY. SAVE MONEY.

USER'S MANUAL

Sectional Sofa
HW67558



COSTWAY

www.costway.com

ITEM:HWG7558

BOX-1/2

A*1

\=

B*2

A

C*2

D*4

\\

Seat Box-
Seat S-spring | Seat Box -Side Ottoman-Side Front&back
E*1 F*1 G*1 H*1

>

Seat Box-

=

Ly

Front cover Back frame LHF arm RHF arm
11 J*1 K*2 L*18

Back pillow Seat Wrench for partL| Screw-M6*16
M*6 N*6 0*1 R*1

f <\
\ ) ﬁ
Screw Nut for

Arm Screw part M Wrench for part N | Ottoman cover

S*1
== 2N\

Ottoman S-spring

COSTWAY

www.costway.com

ITEM:HWG67558

BOX-2/2

B*4

D*4

N———

Seat Box-
Seat S-spring Seat Box -Side Front&back
E*2 F*2 1*2
Seat Box-
Front cover Back frame Back pillow
J*2 K*2 L*20

-

L

e

Seat Wrench for part L Screw-M6*16
P*2 Q*2
Bolt Clasp
03

02




COSTWAY COSTWAY

www.costway.com www.costway.com
All Accessories
A*3 B*6 C*2 D*8
Seat S-sprin Seat Box -Side Ottoman-Side Seat Box-
pring Front&back
E*3 F*3 G*1 H*1
Seat Box- Back frame LHF arm RHF arm
Front cover
1*3 J*3 K*4 L*38
Back pillow Seat Wrench for part L Screw-M6*16
M*6 N*6 0*1 P*2
/ <
©
Arm Screw Screw Nut for Wrench for part N Bolt
part M
Q*2 R*1
Clasp Ottoman cover | Ottoman S-spring

04 05




COSTWAY

www.costway.com

Assembly Instruction For Chair

A*1

Seat S-spring

B*2

h

Seat Box -Side

D*2

%

Seat Box -Front&back

COSTWAY

www.costway.com

E*1 F*1 G*1
[ - >
Seat Box-Front cover Back frame LHF arm
H*1 1*3 J*3
RHF arm Back pillow Seat
K*1 L*10 M*6

S

Wrench for part L

e

Screw-M6*16

/

Arm Screw

N*6

Screw Nut for part M

0*1

Wrench for part N

06

07







COSTWAY COSTWAY

www.costway.com www.costway.com

10 12

CHAIR




COSTWAY

www.costway.com

Assembly Instruction For Loveseat and Sofa

COSTWAY

www.costway.com

P

&

Bolt

Q

=2

Clasp

J I

Repeat step 1 to 9

LOVESEAT

13




COSTWAY COSTWAY

www.costway.com www.costway.com

Assembly Instruction For Ottoman

2
S*1 C*2 D*2
\\\ ; ) ;‘
oman S-sprin Ottoman Box -Side Seat Box -Front&back
* K*1 L*8
Wrench for part L Screw- M6*16
1
3




COSTWAY COSTWAY

www.costway.com www.costway.com

PULL

PULL






